=l BARRACUDA

ASSEMBLING INSTRUCTION LEGEND
1. WINDSHIELD 3. ALLEN SCREW M8X25 (x2)
CUPOLINO VITE A BRUGOLA M8X25 (X2)
CUPULA TORNILLO ALLEN M8X25 (X2)
ALUMINUM WINDSHIELD WINDSCHILD INBUSSCHRAUBE M8X25 (X2)
BENELLI LEONCINO 800 SAUTE VENT VIS ALLEN M8X25 (X2)
B L8300 2. SPECIFIC BRACKET 4. LARGE WASHER @8 (¥4)
STAFFA SPECIFICA ROMDELLA LARGA @8 (X4)
SOPORTE ESPECIFICO ARANDELA ANCHA @8 (X4)
SPEZIFISCHE KLAMMER BREITE SCHEIBE Q8 (X4)

WWW.BARRACUDAMOTO.COM SUPPORT SPECIFIQUE RONDELLE LARGE @8 (X4)




